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8. Solve each equation.

9.

10.

Verify the solution.

a) 4x = 9.6

b) 10 = 3b — 12.5

¢ —5.25x = —210

d) —0.5 = —2x + 8.1
e) 250 + 3.5n = 670

fy —22.5= —2c— 305

For each statement below, write then solve
an equation to determine the number.
Verify the solution.
a) Two times a number is —10.
b) Three times a number, plus 6.4,
is 13.9.
¢) Four times a number is —8.8.
d) Ten is equal to two times a number,
plus 3.6.

Solve each equation. Verify the solution.
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11. For each statement below, write then solve

an equation to determine the number.
Verify the solution.

a) A number divided by 4 is —7.

¢ One-half of a number is 2.5.

d) One-third of a number, minus 4, is 2.

13. Erica is thinking of a number.

If you divide her number by 3 then

subtract 13.5, the result is 2.8.

a) Let b represent Erica’s number.
Write an equation to determine
this number.

b) Solve the equation.

) Verify the solution.
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a)€=3

b) b=15

¢ les= -+
d)x=-1
€)w= -0.3
£)c=-0

Q) X=2
b) = -2.b
C)m=1Y

d)rr=-2g

8. a) x=24 b) b=75
c) x=40 d) x=43
e) n=120 ) c=-4

9. a) Ax=-10;x=-5
b) 3x+64=139,x=25
c) 4x=-88;x=-22 d) x+3.6=10;x=3.2

10. a) c¢=45 b) m=-33
€) n=—6 d) ¢=-20
e) ¢=3 f) a=-585

1. a) %:-?;F—zs b) 3+§=6;x=15

) X=25;x=5 d §-4=2;x=18
2 -NopJonna S pannershou]d undo the operations in thes

13. a) %—13.5:2‘8 b) b=489
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